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1. Show that none of the following sentences is a statement

Is (-4) a positive integer ?

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_oGkr6ZuAtgJz

2.Show that none of the following sentences is a statement

Give me a cup of tea.

° Watch Video Solution

3.Show that none of the following sentences is a statement

May god bless you !

° Watch Video Solution

4. Show that none of the following sentences is a statement


https://dl.doubtnut.com/l/_7rEl0cW2WUTC
https://dl.doubtnut.com/l/_vPMmr5l7JWyO
https://dl.doubtnut.com/l/_rtw81irGdVRZ

Tomorrow is a Sunday .

o Watch Video Solution

5.Show that none of the following sentences is a statement

Do your duty.

o Watch Video Solution

6. Show that none of the following sentences is a statement

Is every set infinite?

o Watch Video Solution



https://dl.doubtnut.com/l/_rtw81irGdVRZ
https://dl.doubtnut.com/l/_d1XCPkq5uGdf
https://dl.doubtnut.com/l/_8jY4WcayLUL8
https://dl.doubtnut.com/l/_3vWp0pgiOLss

7.Show that none of the following sentences is a statement

Close the window .

° Watch Video Solution

8. Show that none of the following sentences is a statement

Howdo you do ?

° Watch Video Solution

9. Show that none of the following sentences is a statement

2¢ + 7 = 0.


https://dl.doubtnut.com/l/_3vWp0pgiOLss
https://dl.doubtnut.com/l/_SJICl7juOgXZ
https://dl.doubtnut.com/l/_vgkoAAQCM1LO

° Watch Video Solution

10. Show that none of the following sentences is a
statement :

Soumana is a kind girl .

° Watch Video Solution

11. Show that none of the following sentences is a statement

Mathematics is very tough .

o Watch Video Solution



https://dl.doubtnut.com/l/_vgkoAAQCM1LO
https://dl.doubtnut.com/l/_9zqFgCa1ClWw
https://dl.doubtnut.com/l/_s8h0bzWqcCcn

12. Show that none of the following sentences is a
statement :

The sum of a and b is greater than 2.

° Watch Video Solution

13. Show that none of the following sentences is a
statement :

a,b,care the lenghts of the sides of a triangle .

° Watch Video Solution

14. Show that none of the following sentences is a

statement : A N B = ¢ where A and B are two sets and ¢ is


https://dl.doubtnut.com/l/_PUVaPUJMwAZX
https://dl.doubtnut.com/l/_dzx2CZNw2U4D
https://dl.doubtnut.com/l/_IYHTagVaNdvm

the null set .

o Watch Video Solution

15. Show that none of the following sentences is a
statement :

The sum of two complex numbers is real .

o Watch Video Solution

16. Examine whether the follwing sentences are statements
or not . Give reasons for your answers .

There is no rain without clouds .

o Watch Video Solution



https://dl.doubtnut.com/l/_IYHTagVaNdvm
https://dl.doubtnut.com/l/_YgYwaA9fMZI4
https://dl.doubtnut.com/l/_K803RKSFo7YO
https://dl.doubtnut.com/l/_bx59gAMUiKp1

17. Examine whether the follwing sentences are statements
or not . Give reasons for your answers .

The sun sets in the east .

° Watch Video Solution

18. Examine whether the follwing sentences are statements
or not . Give reasons for your answers .

Every set is finite set .

° Watch Video Solution

19. Examine whether the follwing sentences are statements
or not . Give reasons for your answers . How far is Mumbai

from here ?


https://dl.doubtnut.com/l/_bx59gAMUiKp1
https://dl.doubtnut.com/l/_ivVRMa9hrm5A
https://dl.doubtnut.com/l/_MfQsWZV3NHoc

° Watch Video Solution

20. Examine whether the follwing sentences are statements
or not . Give reasons for your answers .

Delhi is far from here .

° Watch Video Solution

21. Examine whether the follwing sentences are statements
or not . Give reasons for your answers .

The sum of two natural numbers is a natural number .

° Watch Video Solution



https://dl.doubtnut.com/l/_MfQsWZV3NHoc
https://dl.doubtnut.com/l/_CI9aGSueV2x7
https://dl.doubtnut.com/l/_C7OUAhnBOzo0

22. Examine whether the follwing sentences are statements
or not . Give reasons for your answers .

She is a B.Com . (Hons .) gradute.

° Watch Video Solution

23. Examine whether the follwing sentences are statements
or not . Give reasons for your answers .

Seven plus four is less than ten .

° Watch Video Solution

24. Examine whether the follwing sentences are statements

or not . Give reasons for your answers .


https://dl.doubtnut.com/l/_RQDkPS8eSZqk
https://dl.doubtnut.com/l/_JlpViwaWux0Z
https://dl.doubtnut.com/l/_R5qpOUSsipkx

what are you doing ?

o Watch Video Solution

25. Examine whether the follwing sentences are statements
or not . Give reasons for your answers .

Every rhombus is a parallelogram .

o Watch Video Solution

26. Examine whether the follwing sentences are statements
or not . Give reasons for your answers .

Every rectangle is a square .

° Watch Video Solution



https://dl.doubtnut.com/l/_R5qpOUSsipkx
https://dl.doubtnut.com/l/_DehlvSS2muBI
https://dl.doubtnut.com/l/_HWPVwe3RYsCj
https://dl.doubtnut.com/l/_4OFxlBJPkHne

27. Examine whether the follwing sentences are statements
or not . Give reasons for your answers .

The number y is a natural number .

° Watch Video Solution

28. Examine whether the follwing sentences are statements
or not . Give reasons for your answers .

Every prime number is odd .

° Watch Video Solution

29. Examine whether the follwing sentences are statements
or not . Give reasons for your answers .

Yesterday was Sunday .


https://dl.doubtnut.com/l/_4OFxlBJPkHne
https://dl.doubtnut.com/l/_MA7mX6Xh1QRq
https://dl.doubtnut.com/l/_x5fcar1SfnNw

° Watch Video Solution

30. Examine whether the follwing sentences are statements
or not . Give reasons for your answers .

x? — 11|z| + 24 = 0 has four real roots .

° Watch Video Solution

31. Examine whether the follwing sentences are statements
or not . Give reasons for your answers .

How black is the cat !

o Watch Video Solution



https://dl.doubtnut.com/l/_x5fcar1SfnNw
https://dl.doubtnut.com/l/_lgjZYQ5EGXBb
https://dl.doubtnut.com/l/_cRCquIcCfHfz

32. Examine whether the follwing sentences are statements
or not . Give reasons for your answers .

Arati is a beautiful girl .

° Watch Video Solution

33. Examine whether the follwing sentences are statements
or not . Give reasons for your answers .

Every rational number is an integer .

° Watch Video Solution

34. Examine whether the follwing sentences are statements

or not . Give reasons for your answers .


https://dl.doubtnut.com/l/_bgszww2OIIrH
https://dl.doubtnut.com/l/_X9DbRCJiJM4F
https://dl.doubtnut.com/l/_FUZgabbWifQr

Close your eyes .

o Watch Video Solution

35. Examine whether the follwing sentences are statements
or not . Give reasons for your answers .

Every relation is not a function .

o Watch Video Solution

36. State , with reasone , the truth value of each of the
following propositions (or, statements ) :

Three plus five is eight .

o Watch Video Solution



https://dl.doubtnut.com/l/_FUZgabbWifQr
https://dl.doubtnut.com/l/_cc5VfpqlUhQp
https://dl.doubtnut.com/l/_QS5MdtJhdu8J
https://dl.doubtnut.com/l/_KRdBbRWAe3oP

37. State , with reasone , the truth value of each of the
following propositions (or, statements ) :

the set of prime integers is finite

° Watch Video Solution

38. State , with reasone , the truth value of each of the
following propositions (or, statements ) :

The numbers 15 has three prime factors .

° Watch Video Solution

39. State , with reasone , the truth value of each of the
following propositions (or, statements ) :

If x is real number ,then 7x — 3z = 4z .


https://dl.doubtnut.com/l/_KRdBbRWAe3oP
https://dl.doubtnut.com/l/_75MNDQpzoXSm
https://dl.doubtnut.com/l/_OYvzIxDvFWfL

° Watch Video Solution

40. State , with reasone , the truth value of each of the
following propositions (or, statements ) :

The product of 5 and (-2) is 10.

° Watch Video Solution

41. State , with reasone , the truth value of each of the
following propositions (or, statements ) :

The product of (-5) and (-2) is greater then -(10) .

° Watch Video Solution



https://dl.doubtnut.com/l/_OYvzIxDvFWfL
https://dl.doubtnut.com/l/_LdwVF5wF5MiO
https://dl.doubtnut.com/l/_EJvgDoTHGGrq

42. State , with reason , the truth value of each of the
following propositions (or, statements ) : Every rectangle is

a square.

° Watch Video Solution

43. State , with reasone , the truth value of each of the
following propositions (or, statements ) :

All real numbers are complex numbers .

° Watch Video Solution

44, State , with reasone , the truth value of each of the

following propositions (or, statements ) :


https://dl.doubtnut.com/l/_iC7dBF6XpSwf
https://dl.doubtnut.com/l/_MIVJ8brKkndT
https://dl.doubtnut.com/l/_0qd6Dh0i2dqD

There are 34 days in a month .

o Watch Video Solution

45, State , with reasone , the truth value of each of the
following propositions (or, statements ) :

(2 + \/5) is an irrational number.

o Watch Video Solution

46. Write the negation of each of the following statements :

Kolkata is a town .

o Watch Video Solution



https://dl.doubtnut.com/l/_0qd6Dh0i2dqD
https://dl.doubtnut.com/l/_giLJAhc0iLAB
https://dl.doubtnut.com/l/_OIPy8QdfSDK3

47. Write the negation of each of the following statements :

Delhi is in India .

o Watch Video Solution

48. Write the negation of each of the following statements :

The integer 4 is greater than the integer 6.

° Watch Video Solution

49. Write the negation of each of the following statements :

Both the diagonals of a rhombus have the same . Length .

O Watch Video Solution



https://dl.doubtnut.com/l/_LZORpro7hzQ3
https://dl.doubtnut.com/l/_fSgygatyfIaY
https://dl.doubtnut.com/l/_I21Mz3W7IlBm
https://dl.doubtnut.com/l/_CyGk6ZiSg9FV

50. Write the negation of each of the following statements :

/9 is an irrational number.

0 Watch Video Solution

51. Write the negation of each of the following statements :

All rational numbers are integers .

° Watch Video Solution

52. Write the negation of each of the following statements
and find in each case the truth value of the resulting
statement :

Thesumof3and 2is 6

I ° Wiat~hh \tAdAaA CAliikian



https://dl.doubtnut.com/l/_CyGk6ZiSg9FV
https://dl.doubtnut.com/l/_wv7a7TRNO2ka
https://dl.doubtnut.com/l/_JQWTWek06T1C
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53. Write the negation of each of the following statements
and find in each case the truth value of the resulting

statement :

5<9

0 Watch Video Solution

54. Write the negation of each of the following statements
and find in each case the truth value of the resulting
statement :

n+3>2forall n e N

o Watch Video Solution



https://dl.doubtnut.com/l/_JQWTWek06T1C
https://dl.doubtnut.com/l/_gobiBnhFrMSg
https://dl.doubtnut.com/l/_4HAcVJ52meTy
https://dl.doubtnut.com/l/_AbCwptrjcx5D

55. Write the negation of each of the following statements
and find in each case the truth value of the resulting
statement :

There does not exist a parallelogram which has all its sides

equal .

o Watch Video Solution

56. Write the negation of each of the following statements
and find in each case the truth value of the resulting
statement :

Let A = {1, 3,5, 7} be a given set , then Jx € A such that

X+4=8.

° Watch Video Solution



https://dl.doubtnut.com/l/_AbCwptrjcx5D
https://dl.doubtnut.com/l/_goTofYyAd0KK
https://dl.doubtnut.com/l/_kWDZFS6kjFmx

57. Write the negation of each of the following statements :

(n2 +n 4+ 41) is a prime number foralln € A.

o Watch Video Solution

58. Write the negation of each of the following statements
and find in each case the truth value of the resulting
statement :

Every odd integer is divisible by 3.

° Watch Video Solution

59. Write the negation of each of the following statements

and find in each case the truth value of the resulting


https://dl.doubtnut.com/l/_kWDZFS6kjFmx
https://dl.doubtnut.com/l/_ZENQTI8j3c25
https://dl.doubtnut.com/l/_G030amTDN1ck

statement :

All complex numbers are real numbers .

0 Watch Video Solution

60. Write the negation of each of the following statements
and find in each case the truth value of the resulting
statement :

Every natural number is grater than zero .

° Watch Video Solution

61. State with reasons wheater the statemnts given below in
(i) and (ii) are negation of to each other or not :

(@) the relation z +y =y + « is true for every rational


https://dl.doubtnut.com/l/_G030amTDN1ck
https://dl.doubtnut.com/l/_fo4ItRKFR9Rs
https://dl.doubtnut.com/l/_jdPsvORySSPv

numbers xand y .
(b) there have some rational number x and y for which x+y I=

y+X

° Watch Video Solution

62. State with reasons wheater the statemnts given below is
negation of to each other or not :
(a) There exists a natural number which is not an integer .

(b) Some natural numbers are not integers .

o Watch Video Solution

63. Find the component statements of the following

compound statement and show there is no relation


https://dl.doubtnut.com/l/_jdPsvORySSPv
https://dl.doubtnut.com/l/_FCdF5xXj3wkx
https://dl.doubtnut.com/l/_850zt9IYG5Zn

between them:

3 is an odd number and the sky is blue .

O Watch Video Solution

64. Find the value of each of the following compound
statements :

The earth is almost round and the grass is green .

° Watch Video Solution

65. Find the value of each of the following compound
statements :

The number 12 is both prime and even .

0 Watch Video Solution



https://dl.doubtnut.com/l/_850zt9IYG5Zn
https://dl.doubtnut.com/l/_h810ib5B1BLc
https://dl.doubtnut.com/l/_8048brEjtq4q

66. Find the value of each of the following compound
statements :

7>5and 4 >5

o Watch Video Solution

67. Find the value of each of the following compound
statements :

44+1>7and 2+5<6

o Watch Video Solution

68. Examine whether the connective 'or' used in the

following compound statements is inclusive or exclusive :


https://dl.doubtnut.com/l/_8048brEjtq4q
https://dl.doubtnut.com/l/_g25tSY6cDLNS
https://dl.doubtnut.com/l/_qqsB2Mi1QVfx
https://dl.doubtnut.com/l/_Emp7lXm7FGd6

100 is multiple of 4 or 5

o Watch Video Solution

69. Examine whether the connective 'or' used in the
following compound statements is 'inclusive or' or 'exclusive

or:

4<6 or 5>28

0 Watch Video Solution

70. Write the truth value of each of the following compound
statenments :
2 — 3i(i = /= 1) is a real number or it is a complex

number .



https://dl.doubtnut.com/l/_Emp7lXm7FGd6
https://dl.doubtnut.com/l/_6Vvo6SUDJwLQ
https://dl.doubtnut.com/l/_OkOtDXsxogM8

l @ Watch Video Solution I

71. Write the truth value of each of the following compound
statenments :

7+8=150r,7+8=16

° Watch Video Solution

72. Write the truth value of each of the following compound
statenments : The school is clossed if there is a holiday or

Sunday .

° Watch Video Solution



https://dl.doubtnut.com/l/_OkOtDXsxogM8
https://dl.doubtnut.com/l/_HTIzaELNVgJW
https://dl.doubtnut.com/l/_0dfWDEU1f6ao

73. Write the truth value of each of the following compound
statenments :

98 is a multiple of 6 or 8.

° Watch Video Solution

74. Determine the truth of falsity (i.e , the truth value ) of
each of the following if - then implications :
If the six- digit natural number 718326 is divisible by 3, then

the sum of the digits in 718326 is divisible by 3

0 Watch Video Solution



https://dl.doubtnut.com/l/_xIsnZdiv16gv
https://dl.doubtnut.com/l/_ZoeC7OMEGF7S

75. Determine the truth of falsity (i.e , the truth value ) of
each of the following if - then implications :
If the six- digit natural number 718324 is divisible by 3, then

the sum of the digits in 718324 is divisible by 3

O Watch Video Solution

76. Determine the truth of falsity (i.e , the truth value ) of
each of the following if - then implications :
If the six- digit natural number 718326 is divisible by 3, then

the sum of the digits in 718326 is not divisible by 3

o Watch Video Solution



https://dl.doubtnut.com/l/_Jl4aJIY9Dt0W
https://dl.doubtnut.com/l/_mnxvAOP5Nkmh

77. Determine the truth of falsity (i.e , the truth value ) of
each of the following if - then implications :
If the six- digit natural number 718324 is divisible by 3, then

the sum of the digits in 718324 is not divisible by 3

O Watch Video Solution

78. Rwrite the following statement with the connective

phrase 'if ... Then ... in three different ways conveying the
same meaning :

If a number is a multiple of 10, then it is a multiple of 5.

o Watch Video Solution



https://dl.doubtnut.com/l/_C8kDO0U3Bzcp
https://dl.doubtnut.com/l/_G0N94Te6Zbax

79.Find the truth or falsiity (i.e., the truth value ) of each of
the following biconditinal statements (or , if and ony if
implications ) :

A rectangle is a square if and only if its four sides are equal .

0 Watch Video Solution

80.Find the truth or falsiity (i.e., the truth value ) of each of
the following biconditinal statements (or , if and ony if
implications ) :

7>9 ifandonlyif 5 <8

o Watch Video Solution



https://dl.doubtnut.com/l/_XHwXNjdHN3e1
https://dl.doubtnut.com/l/_vYTJfiEMsbrx

81. Find the truth or falsiity (i.e., the truth value ) of each of
the following biconditinal statements (or , if and ony if
implications ) :

11 < 10+ 2 ifandonlyif 7 > 9

0 Watch Video Solution

82.Find the truth or falsiity (i.e., the truth value ) of each of
the following biconditinal statements (or , if and ony if
implications ) :

9> 11 ifandonlyif 8 <7

o Watch Video Solution



https://dl.doubtnut.com/l/_3vesPV7nkPYv
https://dl.doubtnut.com/l/_WcwtVVr7JRhs

8. Let S = {0,1,2,3,4,5} be a given set , find the truth
value of each of the following statement :

VeeS,z+3<8

° Watch Video Solution

84.let S = {0,1,2,3,4,5} be a given set , find the truth
value of each of the following statement :

Ve e S,z +4>5

° Watch Video Solution

85.Let S ={0,1,2,3,4,5} be a given set , find the truth

value of each of the following statement :


https://dl.doubtnut.com/l/_tOCp91zQAmni
https://dl.doubtnut.com/l/_NhDrVzCfSr3z
https://dl.doubtnut.com/l/_uQwe09dwdNBw

dx € S,such that z +2 =8

o Watch Video Solution

86. Let S = {0,1,2,3,4,5} be a given set , find the truth
value of each of the following statement :

dz € S,such that  + 7 > 12

o Watch Video Solution

87. Write the negation of each of the following quantified
statements :

[‘v’x €N, z>+ 2z +41 isaprime number ]

o Watch Video Solution



https://dl.doubtnut.com/l/_uQwe09dwdNBw
https://dl.doubtnut.com/l/_YUmPL74ZvoWQ
https://dl.doubtnut.com/l/_9oHWOSIuVQWc
https://dl.doubtnut.com/l/_3cZYchB4NeVx

88. Write the negation of each of the following quantified
statements :

{dz € N,z suchthat 3x =12 }

° Watch Video Solution

89. Write the negation of each of the following quantified
statements :

{Ve e Nz +5 > 4}

° Watch Video Solution

90. Write the negation of each of the following quantified

statements :


https://dl.doubtnut.com/l/_3cZYchB4NeVx
https://dl.doubtnut.com/l/_lnWg9qvQnktB
https://dl.doubtnut.com/l/_58M2cpwUIMyu

{If A is the set of all rectangles , then dz € Asuch that all

sides of x are equal }

0 Watch Video Solution

91. Write the negation of each of the following quantified
statements :
{3Jx € R, such that x is rational } [ here R is the set of real

numbers |

° Watch Video Solution

92. Write down the negation of each of the following

compound statements:

44+7=11and 3+5<9



https://dl.doubtnut.com/l/_58M2cpwUIMyu
https://dl.doubtnut.com/l/_kvzlcrn5Tnec
https://dl.doubtnut.com/l/_QbpY9HiP2b2B

l @ Watch Video Solution I

93. Write down the negation of each of the following
compound statements:

It is raining and it is cold

O Watch Video Solution

94. Write the negation of the following compound

statement: Square of an integer is positive or negative.

o Watch Video Solution

95. Write down the negation of each of the following

compound statements:


https://dl.doubtnut.com/l/_QbpY9HiP2b2B
https://dl.doubtnut.com/l/_nQF9BsWwoFxH
https://dl.doubtnut.com/l/_7W50d5kYckqb
https://dl.doubtnut.com/l/_U8Xhs5YQsI1u

44+7<10 or 5+9 > 12

o Watch Video Solution

96. Write down the negation of each of the following
compound statements:
If triangle ABC is isosceles , then the base angles B and C are

equal .

° Watch Video Solution

97. Write down the negation of each of the following
compound statements:

If8 >9 then 12 < 10

0 Watch Video Solution



https://dl.doubtnut.com/l/_U8Xhs5YQsI1u
https://dl.doubtnut.com/l/_oXhrcRdpTzkr
https://dl.doubtnut.com/l/_t8cwpqWPDUn2

98. Write down the negation of each of the following

compound statements: Sets P and Q are equal if and only if (

PC Q@ and QQ C P).

o Watch Video Solution

99. Write down the negation of each of the following
compound statements:

x| <3 ifandonlyif z > — 3 and = < 3.

o Watch Video Solution

100. Check the validity of the following statements :

"72 is a multiple of both 4 and 9 ".


https://dl.doubtnut.com/l/_t8cwpqWPDUn2
https://dl.doubtnut.com/l/_RmsGHjfkI0GQ
https://dl.doubtnut.com/l/_Gx64X5Aqb9y8
https://dl.doubtnut.com/l/_tN7XsAXVN2rc

° Watch Video Solution

101. Check the validity of the following statements :

"120 is a multiple of both 15 and 9".

° Watch Video Solution

102. Examine the validity of the follwing compound
statements :
3—i—4’£(z’ = ,/—1) is a real number or it is a complex

number.

o Watch Video Solution



https://dl.doubtnut.com/l/_tN7XsAXVN2rc
https://dl.doubtnut.com/l/_c88xSh3brph7
https://dl.doubtnut.com/l/_tecVKTX8qGlB

103. Examine the validity of the follwing compound
statements :

112 is a multiple of 50r 9.

° Watch Video Solution

104. Examine the validity of the follwing compound
statements :

If a and b are odd integers , then ab is an odd integer .

° Watch Video Solution

105. Examine the validity of the follwing compound

statements :


https://dl.doubtnut.com/l/_Zxt2K3fcMMAy
https://dl.doubtnut.com/l/_a7f01zFx4ldv
https://dl.doubtnut.com/l/_5heHK5Rxcrn3

If a and b are integers such that ab is an odd integer , then

both a and b are odd integers .

0 Watch Video Solution

106. Check the validity of the following compound statement
using
Direct Method

If x is a real number such that 2z° + 52 = 0, then =z = 0

° Watch Video Solution

107. Check the validity of the following compound statement

using


https://dl.doubtnut.com/l/_5heHK5Rxcrn3
https://dl.doubtnut.com/l/_kom03pYjfn3Z
https://dl.doubtnut.com/l/_XGui98wJRjeL

Contrapositive Method

If x is a real number such that 2z + 52 = 0,then z =0

0 Watch Video Solution

108. Check the validity of the following compound statement
using
Contradiction Method

If x is a real number such that 2z% + 52 = 0, then z = 0

° Watch Video Solution

109. Show that the following statement is true by the
method of contrapositive p: if z is an integer and z? is

odd then z is also odd.



https://dl.doubtnut.com/l/_XGui98wJRjeL
https://dl.doubtnut.com/l/_QGU0OUIHlbUo
https://dl.doubtnut.com/l/_zXU1E30dNXPr

l @ Watch Video Solution I

10. Prove that the following biconditional compound
statement is true:

The integer x is even if and only if 22 is even .

O Watch Video Solution

111. Prove that 4/2 is not a rational number.

° Watch Video Solution

12. Check the validity of the following statement using
contracdiction method :

If x is real number with z > 4, then z? > 16


https://dl.doubtnut.com/l/_zXU1E30dNXPr
https://dl.doubtnut.com/l/_WUruCTvLJEEo
https://dl.doubtnut.com/l/_nYwkoLHZu6ew
https://dl.doubtnut.com/l/_WXpkzvHJyUKm

° Watch Video Solution

113."The sum of an irrational number and a rational number
is irrational " - examine the validity of the statement by

contradiction method .

° Watch Video Solution

114. By giving a counter example show that the following

statement is false:

The equation 4z — 25 = 0 does not have a root lying

between (-3) and (-2) .

o Watch Video Solution



https://dl.doubtnut.com/l/_WXpkzvHJyUKm
https://dl.doubtnut.com/l/_BhB6tNuPUEB1
https://dl.doubtnut.com/l/_KGN5iXNMryI9
https://dl.doubtnut.com/l/_QLxnR4fYpTvp

115. Prove that the statement "If all the the angles of a
triangle are equal , then the triangle is an obtuse angled

triangle " is false .

O Watch Video Solution

116. "If n is an odd integer , then n is prime" = by giving a

counter exmple prove that the given statement is not true .

° Watch Video Solution

Exercise Multiple Choice Type Questions

1. Which of the following sentences is statement ?


https://dl.doubtnut.com/l/_QLxnR4fYpTvp
https://dl.doubtnut.com/l/_bnU7sIn5kzAB
https://dl.doubtnut.com/l/_lmUIfXOVGMwo

A. The sum of two odd numbers is even .

B. How beautiful !

C.The sum of x and y is greater than 4 .

D. Close the door of the room ..

Answer: A

° Watch Video Solution

2. Which of the following sentences is not statement ?

A.9is less than 7

B.ifr € P= a2 € @Q,then P<Q

C. She is kind girl .


https://dl.doubtnut.com/l/_lmUIfXOVGMwo
https://dl.doubtnut.com/l/_QJ4qVW2Mehju

D.7T+9>15

Answer: C

o Watch Video Solution

3. The negation of the statements p is denoted by -

D. —(~p)

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_QJ4qVW2Mehju
https://dl.doubtnut.com/l/_RON705RRZN8n

4. Two component statement p and q of the compound

statement "p and q " denoted by -

A pVq

B.pA\gq

Cp=gq

D.p <= g¢q

Answer: B

o Watch Video Solution

5. Two componet statement p and q of the compound

statement "p or q" denoted by -


https://dl.doubtnut.com/l/_RON705RRZN8n
https://dl.doubtnut.com/l/_LVa04lotj7KP
https://dl.doubtnut.com/l/_B5xZQ2WNokyA

ApVaq

B.p/A\gq

Cp=g¢q

D.p <= ¢

Answer: A

O Watch Video Solution

6. Two component statement p and q of the conditional

statement "p and q " denoted by -

A pVq

B.pA\gq

Cp=q¢q


https://dl.doubtnut.com/l/_B5xZQ2WNokyA
https://dl.doubtnut.com/l/_WMlWOTnJ9QJF

D.p <= g¢q

Answer: C

° Watch Video Solution

7. Two component statement p and q of the conditional

statement "p if and only if q " denoted by -

ApVaq

B.p/A\gq

Cp=gq

D.p & ¢

Answer: D



https://dl.doubtnut.com/l/_WMlWOTnJ9QJF
https://dl.doubtnut.com/l/_WHkRJU07MmR6

| 9 VWatch Video solution |

8. Let p and q be two component statement of the
compound statement p V q . If the truth value of p V q be "
F" then the truth value of p and q are respectively -

ATT

B.T,F

C.FT

D. F,F

Answer: D

0 Watch Video Solution



https://dl.doubtnut.com/l/_WHkRJU07MmR6
https://dl.doubtnut.com/l/_cjBV5GHSpnDK

9. Let p and q be two component statement of the

compound statement p A q . If the truth value of p A q be "

T" then the truth value of p and q are respectively -

ATT

B. T,F

C.FT

D.FF

Answer: A

o Watch Video Solution

10. Let p and q be two component statement of the

compound statement p = q. If the truth value of p = ¢ be


https://dl.doubtnut.com/l/_mndZYjHAssV1
https://dl.doubtnut.com/l/_WEOgbI5hae0q

" F" then the truth value of p and q are respectively -

ATT

B. T,F

C.FT

D. FF

Answer: B

o Watch Video Solution

1. Let p and q be two component statement of the
compound statement p < q. If the truth value of p & ¢ be

"T" then the truth value of p and q are respectively -

AT,F


https://dl.doubtnut.com/l/_WEOgbI5hae0q
https://dl.doubtnut.com/l/_l7qDPyIiiyhq

B.F, T

C.F,F

D. none of these

Answer: C

O Watch Video Solution

12. If p and q are two component statement then the

negation of the compound statement p < qis -

A ~(pAq)V(qgAp)
B.(p A ~q) A (g A ~p)
C.(pAq) V(g -~p)

D.(pA~q) V(g -~p)


https://dl.doubtnut.com/l/_l7qDPyIiiyhq
https://dl.doubtnut.com/l/_PUKnrBbAKHIh

Answer: D

° Watch Video Solution

13. The phrase "there exist " is known as -

A. disjunction

B. conjunction

C. existential quantifiers

D. universal quantifuers

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_PUKnrBbAKHIh
https://dl.doubtnut.com/l/_PCihPkDduYuR

14.p : The sum of 5 and 7 is 11 . The negation of the given

statement is -

A. the difference of 5and 7 is 11.

B.thesumof 5and 7 is not 11.

C.thesumof5and 7is 12.

D. none of these

Answer: B

o Watch Video Solution

15. p: [V:I: eEN, P’ +p+29 is a prime number] the

negation of the given quantified statement is -


https://dl.doubtnut.com/l/_Vng9t6ChEp91
https://dl.doubtnut.com/l/_QfDGzprPGAPl

A Yz €N, p*> + p+ 29 is a prime number
B.Vz € N, p* + p + 29is not a prime
C. 3z € N, such that p® + p + 29 is prime.

D. 3z € N, such that p? + p + 29 is not prime.

Answer: D

° Watch Video Solution

16. the five statements are given below :
p : The sun is a star ltbgt

: The set of rational numbers is finite .

0

r : The number 12 has three prime factors .

V2]

: The product of (-4) and (-3) is less than (-12)

~+

: There are 36 days in a month .


https://dl.doubtnut.com/l/_QfDGzprPGAPl
https://dl.doubtnut.com/l/_JYgqOyeioVO7

A.{T.T [F FF}

B. {T,F,F,T,F}

C.{T,T,T,T,F}

D. {T,F,F,F,F}

Answer: D

O View Text Solution

17. Given ,

P : Seven plus two is nine

q : Every parallelogam is a rectangel .

r: If x is realnumber then, 7z + 32z = 10z.

s : /8 is a rational number.


https://dl.doubtnut.com/l/_JYgqOyeioVO7
https://dl.doubtnut.com/l/_KtrayI2CMRLe

t: If x is not a negative number , then 4 > 3z«

Thuth value of the statements are respectively

A. {T,F,T,F,T}

B. {T,T,T,F,F}

C.{T,FF,T,F}

D.{T,T,T,T,F}

Answer: A

o Watch Video Solution

1

18. Given sentence if statement then write 's' otherwise *

A {SS$}

B. {S$5%}


https://dl.doubtnut.com/l/_KtrayI2CMRLe
https://dl.doubtnut.com/l/_fCbO7kdj6b9S

C. {$5%5}

D. {$5S}

Answer: A

° Watch Video Solution

p : Three plus six is nine

g : the moon revoles around the Earth .

r : Mathematics is fun .

s: How far is Mumbai from here ?

The sentences are repectively

A HHHOPTH##
B. #H#H#OPT2#H##
C. #H##OPT3###

D. ###OPT4AH###


https://dl.doubtnut.com/l/_fCbO7kdj6b9S

Answer: ###ANSWER##i#

© ###BUTTON_TEXTH##H#

Exercise Very Short Answer Type Questions

1. Which of the following sentences are statements ? Give

reason for your answers The sun rises in the east .

° Watch Video Solution

2. Which of the following sentences are statements ? Give

reason for your answers How far is Kolkata from your house ?

o Watch Video Solution



https://dl.doubtnut.com/l/_PnFzSWKoWtt4
https://dl.doubtnut.com/l/_VZxxxGwrKZPH

3. What of the following sentences are statements ? Give
reasone for uour answers

She is a beautiful girl .

o Watch Video Solution

4. What of the following sentences are statements ? Give
reasone for uour answers

The equation z* — 12|z| + 32 = 0 has four real roots .

o Watch Video Solution

5. Which of the following sentences are statements ? Give

reason for your answers Every relation is a function .

[ & - |


https://dl.doubtnut.com/l/_Uu35ksyCWBRq
https://dl.doubtnut.com/l/_8691xPNQ7PpM
https://dl.doubtnut.com/l/_Q7prIABAZip1

[ @ Watch Video Solution ]

6. Which of the following sentences are statements ? Give

reason for your answers Do you home work .

° Watch Video Solution

7. Which of the following sentences are statements ? Give

reasone for your answers The set of prime numbers is finite .

o Watch Video Solution

8. Which of the following sentences are statements ? Give

reasone for your answers Every parallelogram is a rectangle .

I ° Wiat~h \iAdAaA CAliikian



https://dl.doubtnut.com/l/_Q7prIABAZip1
https://dl.doubtnut.com/l/_29kBcTyVjkr7
https://dl.doubtnut.com/l/_YFeMLZWamTzz
https://dl.doubtnut.com/l/_mp4znByaDO3e

| € AAA-LAFIEER AL A\ VA LY AL AALAYIN] J

9. Which of the following sentences are statements ? Give

reason for your answers A prime integer is not divisible by 2 .

o Watch Video Solution

10. Examine whether the follwing sentences are statements or
not . Give reasons for your answers .

There is no rain without clouds .

o Watch Video Solution

11. Which of the following sentences are statements ? Give

reason for your answers The sun is not a star.



https://dl.doubtnut.com/l/_mp4znByaDO3e
https://dl.doubtnut.com/l/_WEQxrZQmKX8l
https://dl.doubtnut.com/l/_w3sFjOOVFwmZ
https://dl.doubtnut.com/l/_v0jHGJ0pXj8c

I o Watch Video Solution

12. Which of the following sentences are statements ? Give

reason for your answers If t € A U B, then x € A.

o Watch Video Solution

13. Which of the following sentences are statements ? Give

reason for your answers If z € AN B, then z € B.

O Watch Video Solution

14. Which of the following sentences are statements ? Give

reason for your answers All quadrilaterals have four sides .

| o ]


https://dl.doubtnut.com/l/_v0jHGJ0pXj8c
https://dl.doubtnut.com/l/_p1nNXM1OqGOS
https://dl.doubtnut.com/l/_MOffko3hrD6b
https://dl.doubtnut.com/l/_dLGsjx2DOh83

[ W Watch Video Solution ]

15. Which of the following sentences are statements ? Give
reason for your answers The sum of a real number and a

complex number is always a purely complex number .

o Watch Video Solution

16. Which of the following sentences are statements ? Give
reason for your answers The sum of two irrational numbers is

always a rational number .

o Watch Video Solution



https://dl.doubtnut.com/l/_dLGsjx2DOh83
https://dl.doubtnut.com/l/_TtwWL0MzKQfG
https://dl.doubtnut.com/l/_1kJbqlZNJOb2

17. Which of the following sentences are statements ? Give

reason for your answers Chennai is in pakistan .

o Watch Video Solution

18. Which of the following sentences are statements ? Give

reason for your answers Is every set infinite ?

o Watch Video Solution

19. What of the following sentences are statements ? Give
reasone for your answers

The number z is a complex numbers .

o Watch Video Solution



https://dl.doubtnut.com/l/_697jKJ6JXahQ
https://dl.doubtnut.com/l/_LdRcL2gkILP2
https://dl.doubtnut.com/l/_jNFJr6g7ZJwH

20. Which of the following sentences are statements ? Give
reason for your answers The sum of two complex numbers is

always a complex number .

o Watch Video Solution

21. What do you mean by negative of a statement (or , a

proposition ) ? How is it usually obtained ?

o Watch Video Solution

22. Write the negation of each of the following statements

and find in each case the truth value of the resulting


https://dl.doubtnut.com/l/_jNFJr6g7ZJwH
https://dl.doubtnut.com/l/_kuv4On6CSg0C
https://dl.doubtnut.com/l/_X7lVtDlL64mf
https://dl.doubtnut.com/l/_rVv3624Mr1Fx

statement :

The sumof4and 5is 7

0 Watch Video Solution

23. Write the negation of each of the following statements
and find in each case the truth value of the resulting
statement :

5<9

o Watch Video Solution

24. Write the negation of each of the following statements

and find in each case the truth value of the resulting


https://dl.doubtnut.com/l/_rVv3624Mr1Fx
https://dl.doubtnut.com/l/_tVv38UNWWQ4R
https://dl.doubtnut.com/l/_C86pWEkvSscn

statement :

Forallm € N,we haven — 2 > 3.

O Watch Video Solution

25. Write the negation of each of the following statements
and find in each case the truth value of the resulting
statement :

The roots of the equation 2% — 4z + 5 = 0 are real .

o Watch Video Solution

26. Write the negation of each of the following statements
and find in each case the truth value of the resulting

statement :


https://dl.doubtnut.com/l/_C86pWEkvSscn
https://dl.doubtnut.com/l/_cqJkQJWUGGce
https://dl.doubtnut.com/l/_ivUinWc7UM8L

If A={1, 2,3 ,4 } be a given set , then there exists x in A such

that2z +1 =10

O Watch Video Solution

27. Write the negation of each of the following statements and
find in each case the truth value of the resulting statement :

There does not exist a rectangle which has all its sides equal .

O Watch Video Solution

28. Write the negation of each of the following statements
and find in each case the truth value of the resulting
statement :

Both the diagonals of a parallelogram have the same length .



https://dl.doubtnut.com/l/_ivUinWc7UM8L
https://dl.doubtnut.com/l/_dlSn3POUqDhd
https://dl.doubtnut.com/l/_APYALYZDVgS9

l @ Watch Video Solution I

29. Write the negation of each of the following statements
and find in each case the truth value of the resulting
statement :

The earth is round .

o Watch Video Solution

30. Write the negation of each of the following statements
and find in each case the truth value of the resulting
statement :

The product of two natural numbers is a natural number .

o Watch Video Solution



https://dl.doubtnut.com/l/_APYALYZDVgS9
https://dl.doubtnut.com/l/_lDdbgl2eIUYd
https://dl.doubtnut.com/l/_Y0mspJ1J2feM

31. Write the negation of each of the following statements and
find in each case the truth value of the resulting statement :

If Aand B are two sets such that A C B,then AU B = B.

o Watch Video Solution

32. State with reason whether the statements given below is
negation of each other:

(i) The relation zy = yx is true for every real number x and y .

(ii) There exists real numbers x and y for which the relation

xy = yx is not true.

o Watch Video Solution



https://dl.doubtnut.com/l/_JUIWMKPwSknt
https://dl.doubtnut.com/l/_303RYaQlDLbD

33. State with reason whether the statements given below is
negation of each other:

(i) The quadratic equation z* — 6z + 25 = 0 has no real roots

(i) The roots of the equation z? — 6z + 25 = 0 are compleax .

o Watch Video Solution

34. State with reason whether the statements given below is
negation of each other:
(i) All complex numbers are real .

(ii)There exists at least one complex number which is not real .

o Watch Video Solution



https://dl.doubtnut.com/l/_dvJLUet5ac5i
https://dl.doubtnut.com/l/_BUKUCwTGYwf1
https://dl.doubtnut.com/l/_G6veh62LlF2p

35. Define examples simple statement and compound

statements

O Watch Video Solution

36. What do you mean by 'Connectives ' in mathematical

reasoning problems ?

o Watch Video Solution

37. Define with examples 'Conjunction’ Disjunction ' ,"If - then
implication ", (or ,'Conditional statement ') and 'Biconditional’
statement . If p and q are two simple statements then state

the symolic presentations of above compound statements .

O Watch Video Solution



https://dl.doubtnut.com/l/_G6veh62LlF2p
https://dl.doubtnut.com/l/_tY1PZVVWEaEM
https://dl.doubtnut.com/l/_3EC63FKUTIta

38. Find the component statements of the following

compound statement: It is raining and it is cold.

o Watch Video Solution

39. Write the component statements of each of the folloing
compound statements :

The earth is round and the sky is blue.

o Watch Video Solution

40. Write the component statements of each of the following

compound statements : 840 is divisible by 7,4 and 15 .

[ n Watrh VVidan Qaliifian ]


https://dl.doubtnut.com/l/_3EC63FKUTIta
https://dl.doubtnut.com/l/_0dgVPPM1Qx8Q
https://dl.doubtnut.com/l/_C6BJTvXkVU4L
https://dl.doubtnut.com/l/_UUE693ILbqes

l v TV WISl VivViY o Fvimisiwis ]

41. Write the component statements of each of the folloing
compound statements :

Two coplanar lines are parallel or they intersect at a point .

o Watch Video Solution

42. Write the component statements of each of the folloing
compound statements :

/3 is a rational number or an irrational number .

o Watch Video Solution



https://dl.doubtnut.com/l/_UUE693ILbqes
https://dl.doubtnut.com/l/_5Fdo4ry8paSN
https://dl.doubtnut.com/l/_ygbrEX7ZJabx

43. Write the component statements of each of the folloing
compound statements :

315 is a multiple of 7 or 9.

o Watch Video Solution

44. Write the component statements of each of the folloing
compound statements :

If9 > 11, then81 > 121.

o Watch Video Solution

45. Write the component statements of each of the folloing

compound statements :


https://dl.doubtnut.com/l/_l2dDBQieZNUR
https://dl.doubtnut.com/l/_z4IAKFyIFy6d
https://dl.doubtnut.com/l/_zCtobpQyodsL

If the number 73452 is divisible by 3 , then the sum of the

digits in 73452 is divisible by 3 .

o Watch Video Solution

46. Write the component statements of each of the following

compound statements : Sets A and B are equal if and only if

(AC B and B C A)

O Watch Video Solution

47. Write the component statements of each of the folloing
compound statements :

A triangle is equilateral if and only if iit is equiangular .

O Watch Video Solution



https://dl.doubtnut.com/l/_zCtobpQyodsL
https://dl.doubtnut.com/l/_F0kFlmICn6n3
https://dl.doubtnut.com/l/_uwPjUdpWngs7

48. Find the truth value of each of the following compound
statements :
A parallelogram is a quadrilateral and its opposite sides are

equal .

o Watch Video Solution

49. Find the truth value of each of the following compound
statements :

The sky is blue and the earth is a star .

o Watch Video Solution



https://dl.doubtnut.com/l/_uwPjUdpWngs7
https://dl.doubtnut.com/l/_KXoBsEjJKAuz
https://dl.doubtnut.com/l/_WvwsbcAv7WLf

50. Find the truth value of each of the following compound
statements :

9>T7and 6>5.

o Watch Video Solution

51. Find the truth value of each of the following compound
statements :

35is a multiple of 4 and 3.

o Watch Video Solution

52. Find the truth value of each of the following compound

statements :


https://dl.doubtnut.com/l/_gQDMkrNcp7u1
https://dl.doubtnut.com/l/_SyBGGoud3aD6
https://dl.doubtnut.com/l/_47qvmyRpCWtl

Number 7 is prime or it is odd.

o Watch Video Solution

53. Find the truth value of each of the following compound
statements :

9>7and 5 <9.

° Watch Video Solution

54. Find the truth value of each of the following compound
statements :

3+ 4 (z = (,/— 1) is real number or it is a complex number .

° Watch Video Solution



https://dl.doubtnut.com/l/_47qvmyRpCWtl
https://dl.doubtnut.com/l/_kWW7OL80FxMi
https://dl.doubtnut.com/l/_zosoYxlxel7g
https://dl.doubtnut.com/l/_5k7BeQehlcsO

55. Find the truth value of each of the following compound
statements :

The sun is cold or the sky is red .

o Watch Video Solution

56. Find the truth value of each of the following compound
statements :

100 is multiple of 6 or 8.

o Watch Video Solution

57. Find the truth value of each of the following compound

statements :


https://dl.doubtnut.com/l/_5k7BeQehlcsO
https://dl.doubtnut.com/l/_PrqfSHstzRjb
https://dl.doubtnut.com/l/_AX3ptiRhIvL9

If the five -digit naturals 54732 is divisible by 3 , then the sum

of the digits in 54732 is divisible by 3 .

O Watch Video Solution

58. Find the truth value of each of the following compound
statements :
If the five -digit naturals 54732 is divisible by 3 , then the sum

of the digits in 54732 is divisible by 3.

o Watch Video Solution

59. Find the truth value of each of the following compound

statements :


https://dl.doubtnut.com/l/_AX3ptiRhIvL9
https://dl.doubtnut.com/l/_p5upOMeDiysC
https://dl.doubtnut.com/l/_0Os75alTebDq

If the five -digit naturals 54732 is divisible by 3 , then the sum

of the digits in 54732 is not divisible by 3.

O Watch Video Solution

60. Find the truth value of each of the following compound
statements :
If the five -digit naturals 54732 is divisible by 3 , then the sum

of the digits in 54732 is not divisible by 3.

o Watch Video Solution

61. Find the truth value of each of the following compound

statements :


https://dl.doubtnut.com/l/_0Os75alTebDq
https://dl.doubtnut.com/l/_VGCMM2FCArOS
https://dl.doubtnut.com/l/_j6b4R1cH8iqy

A quadrilateral is a parallelogram if and only if its opposite

sides are equal .

O Watch Video Solution

62. Find the truth value of each of the following compound
statements :

6 > 7 ifandonlyif 4 <7

O Watch Video Solution

63. Find the truth value of each of the following compound
statements :

15 > 17 ifand only if 11 < 10

O Watch Video Solution



https://dl.doubtnut.com/l/_j6b4R1cH8iqy
https://dl.doubtnut.com/l/_zb1Qjo6JYS1i
https://dl.doubtnut.com/l/_vQAHdmwPoRm6

64. Find the truth value of each of the following compound
statements :

17 < 144+ 5 ifand only if 12 > 17.

o Watch Video Solution

65. Find the component statements of the following two
compound statements and in each case show that there is no
relation between the component statements.

A prime number is odd and the earth is round .

0 Watch Video Solution



https://dl.doubtnut.com/l/_vQAHdmwPoRm6
https://dl.doubtnut.com/l/_aqV28BdWVTPe
https://dl.doubtnut.com/l/_E9g5Q1Hjv0DF

66. Find the component statements of the following two
compound statements of the following two compound
statements and in each case show that there is no relation
between the component statements.

the number 6 is less than 4 and the sun is a star.

o Watch Video Solution

67. In each of the following compound statements state with
reasons whether an "inclusive or" or an "exclusive or" is used :

the gaovernment office is closed if it is holiday or Sunday .

o Watch Video Solution



https://dl.doubtnut.com/l/_eisxmm1DdR7b
https://dl.doubtnut.com/l/_oYEEMKdVjTxt

68. In each of the following compound statements state with
reasons whether an "inclusive or" or an "exclusive or" is used :
Two coplanar straight lines intersect at a point or they are

parallel .

0 Watch Video Solution

69. In each of the following compound statements state with
reasons whether an "inclusive or" or an "exclusive or" is used :

72 is a multiple of 4 or 9.

O Watch Video Solution



https://dl.doubtnut.com/l/_knfGRT4Y8cBv
https://dl.doubtnut.com/l/_b7oT2sb8T1L4

70. In each of the following compound statements state with
reasons whether an "inclusive or" or an "exclusive or" is used :
Students can take Mathematics or Biology as their additional

subject .

O Watch Video Solution

71. In each of the following compound statements state with
reasons whether an "inclusive or" or an "exclusive or" is used :

to visit a county, a man needs a passport or voteridentity card

o Watch Video Solution



https://dl.doubtnut.com/l/_lWCYCLhnuQV7
https://dl.doubtnut.com/l/_flZT0RDJH6mE

72. In each of the following compound statements state with
reasons whether an "inclusive or" or an "exclusive or" is used :

9> 11 or, 7<10.

o Watch Video Solution

73.Rewrite the follwing statement with the connective phrase
"if ..., then ... in five different ways conveying the same
meaning :

If a number is a multiple of 9, then it is a multiple of 3.

o Watch Video Solution



https://dl.doubtnut.com/l/_4YwzVL381BUL
https://dl.doubtnut.com/l/_WOJLCWXrLNLx

74.let A={2,3,4 5,6,71},be a given set, find the truth
value of each of the following statements :

Jdx € A, suchthat = + 4 > 11.

o Watch Video Solution

75.let A={2,3,4 56,7}, be agiven set, find the truth
value of each of the following statements :

Jdx € A, suchthat z — 2 = 6.

° Watch Video Solution

76.Let A={2,3,4 56,7}, beagiven set, find the truth

value of each of the following statements :


https://dl.doubtnut.com/l/_WyOUn1AaiMcG
https://dl.doubtnut.com/l/_YTMkx3Jp392e
https://dl.doubtnut.com/l/_VdPk0teYq7lc

Ve € A, suchthat x — 1 < 6.

° Watch Video Solution

77.Let A={2,3,4 56,7}, be agiven set, find the truth
value of each of the following statements :

Ve € A, suchthat = + 2 > 5.

° Watch Video Solution

78. Write the negation of each of the follwing quantified
statements :
{3z € R such that x is irrational } , here R is the set of real

numbers.

O Watch Video Solution



https://dl.doubtnut.com/l/_VdPk0teYq7lc
https://dl.doubtnut.com/l/_B0r6SnjrAtVN
https://dl.doubtnut.com/l/_EYzFPsPD7jBN

79. Write the negation of each of the follwing quantified
statements :
{If Z is the set of all integers , then dx € Z such that x is a

natural number }

o Watch Video Solution

80. Write the negation of each of the follwing quantified
statements :

{Va: € N, z? + 41z + 41 is a prime number }

o Watch Video Solution



https://dl.doubtnut.com/l/_EYzFPsPD7jBN
https://dl.doubtnut.com/l/_CWw4MZL15Nqq
https://dl.doubtnut.com/l/_bL0NPOB90DgY

81. Write the negation of each of the follwing quantified
statements :

{Vz € N,suchthat = + 2 > 4}

° Watch Video Solution

82. Write the negation of each of the follwing quantified

statements :

{dz € N suchthat ,4z = 24}

o Watch Video Solution

8. If p and q are two given statements the prove that ,

-(pAq) = (-p) V (-9)

| & - |


https://dl.doubtnut.com/l/_wCuHFXH88AZd
https://dl.doubtnut.com/l/_kG9Qsix6zNGW
https://dl.doubtnut.com/l/_TnHvfbnHI8XL

[ @ Watch Video Solution

84.If p and q and g are two statements , prove that

M -(pVaq) = (-p) A(q)""(@(i)~(p " q)=~(~q)"

° Watch Video Solution

85. If p and q are two given statements the prove that,

“(p=4q) = () A(-9)

o Watch Video Solution

86. If p and q are two given statements the prove that,

P9 =m@AN-9 V(g -p)

I o Wiat~hh \tAAA CAlLiikian


https://dl.doubtnut.com/l/_TnHvfbnHI8XL
https://dl.doubtnut.com/l/_xUvmp4xYUUQH
https://dl.doubtnut.com/l/_4JdtlgDzUipK
https://dl.doubtnut.com/l/_jFDKtddaJlX2

| € AAA-LAFIEER AL A\ VA LY AL AALA"IN] J

87. Write down the negation of each of the following
compound statements :

5+4=9and 4+6 < 11.

o Watch Video Solution

88. Write down the negation of each of the following
compound statements :

The sun rises in the east and sets in the west .

° Watch Video Solution



https://dl.doubtnut.com/l/_jFDKtddaJlX2
https://dl.doubtnut.com/l/_W3rEJNXnFP9y
https://dl.doubtnut.com/l/_nxIyeLn3eyxJ

89. Write down the negation of each of the following
compound statements :

3+8<9 or, 4410 > 13.

o Watch Video Solution

90. Write down the negation of each of the following
compound statements :

The sun shines or it rains .

o Watch Video Solution

91. Write down the negation of each of the following

compound statements :


https://dl.doubtnut.com/l/_IB6r9NdGD7HW
https://dl.doubtnut.com/l/_jribNSHnt1cZ
https://dl.doubtnut.com/l/_jueE3wWx0xAT

If triangle ABC is right angled at A, then AB? + AC? = BC?.

o Watch Video Solution

92. Write down the negation of each of the following
compound statements :

If 12 > 13, thenl6 < 15.

o Watch Video Solution

93. Write down the negation of each of the following
compound statements :

Atriangle is equilateral if and only if it is equiangular .

° Watch Video Solution



https://dl.doubtnut.com/l/_jueE3wWx0xAT
https://dl.doubtnut.com/l/_hZsdc1KVJUrH
https://dl.doubtnut.com/l/_D2bzgDFOA8xh
https://dl.doubtnut.com/l/_EkmYZ0x6Tp9P

94. Write down the negation of each of the following
compound statements :

x| <5 ifandonlyif > —5 or, =z <5.

o Watch Video Solution

Exercise Short Answer Type Questions

1. What do you mean by contrapositive and converse of a

conditional statement ?

o Watch Video Solution



https://dl.doubtnut.com/l/_EkmYZ0x6Tp9P
https://dl.doubtnut.com/l/_ytgnpVMPwU2e

then ....." implications :

fex+1=7 then z =6

o Watch Video Solution

3. Write down the contrapositive of the following " if ...
then ....." implications :

If a numbers is divisible by 8 , then it is divisible by 4 .

o Watch Video Solution



https://dl.doubtnut.com/l/_JlIQWBev93qZ
https://dl.doubtnut.com/l/_i2FqO3q9HUUy
https://dl.doubtnut.com/l/_EgPsbTZYt4ib

If a is prime number , then a is odd .

o Watch Video Solution

5. Write down the contrapositive of the following " if ... ,
then ....." implications :

If N is an even number , then N is divisible by 4 .

o Watch Video Solution

then ....." implications :
If the diagonals of a quadrilateral bisect each other , then the

quadrilateral is a parallelgram.

° Watch Video Solution



https://dl.doubtnut.com/l/_EgPsbTZYt4ib
https://dl.doubtnut.com/l/_KsXumT3sFieQ
https://dl.doubtnut.com/l/_f38C1TifsdCx

7. Write down the contrapositive of the following " if ..........
...... " implications :

If n is a positive number , then n is not less than zero .

o Watch Video Solution

then ......" implications :

If x is an integer and z? is even then x is even .

o Watch Video Solution



https://dl.doubtnut.com/l/_f38C1TifsdCx
https://dl.doubtnut.com/l/_N9C1LGkIhv8K
https://dl.doubtnut.com/l/_EmtP3EK0wvgI
https://dl.doubtnut.com/l/_Fi8Gv8bx4nOX

If a positive integer N is divisible by 9, then the sum of the

digits in N is divisible by 9.

O Watch Video Solution

10. Write down the contrapositive of the following " if ... ,
then ....." implications :
If triangle ABC is isosceles , then the base angles B and C are

equal .

o Watch Video Solution

11. Write down the contrapositive of the following " if ... ,

then ...." implications : It never rains when it is cold.

O Watch Video Solution



https://dl.doubtnut.com/l/_Fi8Gv8bx4nOX
https://dl.doubtnut.com/l/_kAknbDbf3d2G
https://dl.doubtnut.com/l/_5mIUUqJ48N51

12. Write the converse of each of the following conditional
statements :

fx +5=9, then z =14

o Watch Video Solution

13. Write the converse of each of the following conditional
statements :

If a number is divisible by 9, then it is divisible by 3 .

o Watch Video Solution

14. Write the converse of each of the following conditional

statements :


https://dl.doubtnut.com/l/_5mIUUqJ48N51
https://dl.doubtnut.com/l/_spO4mDSF8SyM
https://dl.doubtnut.com/l/_RgrR6NmK3pdi
https://dl.doubtnut.com/l/_wRA3hvxSqvva

If a number N is odd then N2 is odd .

o Watch Video Solution

15. Write the converse of each of the following conditional
statements :
If a traiangle ABC is right - angled at C , then

AC? + BC? = AB?.

O Watch Video Solution

16. Write the converse of each of the following conditional
statements :

If n is an odd integer , then n is a prime integer .

O Watch Video Solution



https://dl.doubtnut.com/l/_wRA3hvxSqvva
https://dl.doubtnut.com/l/_tJcod17trGe4
https://dl.doubtnut.com/l/_p3vQQCNam1eS

17. Write the converse of each of the following conditional
statements :

If you feel thirsty , then temperature is high .

o Watch Video Solution

18. Write the converse of each of the following conditional
statements :

If you are born in India, then you are a citizen of India

o Watch Video Solution

19. Write the converse of each of the following conditional

statements :


https://dl.doubtnut.com/l/_p3vQQCNam1eS
https://dl.doubtnut.com/l/_emrv7SL1psUq
https://dl.doubtnut.com/l/_41tYDalSuh1g
https://dl.doubtnut.com/l/_GoTe5d20N0Fi

If x and y are two integers such that (x -y) is always a positive

integer ,then =z > v.

° Watch Video Solution

20. Write the converse of each of the following conditional
statements :
If two coplanar striagh lines are parallel , then they do not

intersect .

o Watch Video Solution

21. Write the converse of each of the following conditional
statements :

If it rains , then there is traffic jam .



https://dl.doubtnut.com/l/_GoTe5d20N0Fi
https://dl.doubtnut.com/l/_Q0pcpGMxx8z1
https://dl.doubtnut.com/l/_eS5RNiv9VFoG

l @ Watch Video Solution I

22. The contrapositives of few conditional statements are
given below, find the conditional statements :

Ifx #5, then x +4 #09.

° Watch Video Solution

23. The contrapositives of few conditional statements are
given below, find the conditional statements :

If I go to school, then it does not rain .

O Watch Video Solution



https://dl.doubtnut.com/l/_eS5RNiv9VFoG
https://dl.doubtnut.com/l/_qagUgLZveOti
https://dl.doubtnut.com/l/_0lNedu24yg20

24. The contrapositives of few conditional statements are
given below, find the conditional statements :
If the sum of digits in a positive integer n is not divisible by 3 ,

then the integer n is not divisible by 3 .

O Watch Video Solution

25. The contrapositives of few conditional statements are
given below, find the conditional statements :

If you do not have winter clothes , then you do not live in simla

o Watch Video Solution



https://dl.doubtnut.com/l/_Nz7Wr9Ldd3eY
https://dl.doubtnut.com/l/_WctFEeTd1hLC

26. The contrapositives of few conditional statements are
given below, find the conditional statements :
If a positive integer has some divisors other than 1 and itself ,

then it is not prime..

O Watch Video Solution

n

27. Find " If - then implications " of the following converse
statements :

If it is a sunny day, then | go to a beach .

o Watch Video Solution



https://dl.doubtnut.com/l/_lVl6Y1EFG3GI
https://dl.doubtnut.com/l/_b4LkGlzBOGBM

28. Find " If - then implications " of the following converse

statements : If x=5,thenx+3 =8

o Watch Video Solution

29. Find " If - then implications " of the following converse

statements : if | stay at home , then it rains .

o Watch Video Solution

30. Find " If - then implications " of the following converse

statements : Rahul will earn money if he works hard .

O Watch Video Solution



https://dl.doubtnut.com/l/_YcpNEMNK3VWf
https://dl.doubtnut.com/l/_CziDPONffJVq
https://dl.doubtnut.com/l/_2ZaJAUXEKyXl
https://dl.doubtnut.com/l/_Pw73QFeGqFN8

31. Find " If - then implications " of the following converse
statements : If the diagonals of a quadrilateral bisect each

other, then it is a parallelogram .

o Watch Video Solution

32. Two pairs of statements p and q are given below . Combine
theses two statements using the biconditional phrase "if and
onlyif".

p : If a quadrilateral is equiangular then it is a rectangle .

q: If a quadrilateral is a rectangle then it is a equiangular .

O Watch Video Solution



https://dl.doubtnut.com/l/_Pw73QFeGqFN8
https://dl.doubtnut.com/l/_wq0hOBOUBPpj

33. Two pairs of statements p and q are given below . Combine
theses two statements using the biconditional phrase "if and
onlyif".

P: If areatangle is a square then all its four sides are equal .

q : If all the four sides of rectangle are equal , then it is a

square .

° Watch Video Solution

34. Two pairs of statements p and q are given below . Combine
theses two statements using the biconditional phrase "if and
onlyif".

p : If the sum of digits in a positive integer n is divisible by 9,

then the number is divisibel by 9


https://dl.doubtnut.com/l/_oDt6OwbILjwG
https://dl.doubtnut.com/l/_8FCFzQFzQos4

q : If a positive integer n is divisible by 9, then the sum of the

digits in n is divisible by 9 .

O Watch Video Solution

35. Two pairs of statements p and q are given below . Combine
theses two statements using the biconditional phrase "if and
only if".

p :If ABC is an isosceles triangle , then the base angles are
equal .

q : If two base angles of the traingle ABC are equal , then the

traingle ABC is isosceles .

o Watch Video Solution



https://dl.doubtnut.com/l/_8FCFzQFzQos4
https://dl.doubtnut.com/l/_W7S6WXtUj9H6

36. Two pairs of statements p and q are given below . Combine
theses two statements using the biconditional phrase "if and
onlyif".

p : If a tumbler is half empty, then it is half full .

q: If a tumbler is half full , then it is half empty.

o Watch Video Solution

37. Two pairs of statements p and q are given below . Combine
theses two statements using the biconditional phrase "if and
onlyif".

p : If your mind is free , then you watch T V..

q : If you watch T.V then your mind is free .

O Watch Video Solution



https://dl.doubtnut.com/l/_iSFenqUua4fe
https://dl.doubtnut.com/l/_0O97lGosakJT

38. Two pairs of statements p and q are given below . Combine
theses two statements using the biconditional phrase "if and
onlyif".

p : If sets Aand B are equal ,then (A C B and B C A)

q:1f(A C B and B C A),then Aand B are equal sets .

o Watch Video Solution

39. Rewrite each of the following compound statements with "
if ......, then ...." implications :
To get grade A in the class , it is necesssary for you to work out

all exercises of the book .

o Watch Video Solution



https://dl.doubtnut.com/l/_Re7oFy9c6eBN
https://dl.doubtnut.com/l/_V1hDYF3mUa9E
https://dl.doubtnut.com/l/_vFfpUEW5KVL0

40. Rewrite each of the following compound statements with "
if ......, then ...." implications :

A rectangle is a square if its four sides are equal .

o Watch Video Solution

41.Rewrite each of the following compound statements with "
if ......, then ...." implications :

You get a job implies that your credentials are good .

o Watch Video Solution

42.Rewrite each of the following compound statements with
if ......, then ...." implications :

The game is cancelled only if it is raining .



https://dl.doubtnut.com/l/_vFfpUEW5KVL0
https://dl.doubtnut.com/l/_hN0UleBvnN3O
https://dl.doubtnut.com/l/_7yozdkzqq0kf

l o Watch Video Solution

43. Rewrite each of the following compound statements with "
if ......, then ...." implications :

The humidity increases whenver it rains .

O Watch Video Solution

44. Rewrite each of the following compound statements with "
if ....., then ...." implications :
The product of two positive integers x and y is a ratinal

number .

o Watch Video Solution



https://dl.doubtnut.com/l/_7yozdkzqq0kf
https://dl.doubtnut.com/l/_3Ll9esX5FywV
https://dl.doubtnut.com/l/_uJEqehGhB8FS
https://dl.doubtnut.com/l/_57c7K7J8ker2

45. Rewrite each of the following compound statements with "
if ......, then ...." implications :

X is a positive prime number x is odd .

o Watch Video Solution

46. Rewrite each of the following compound statements with "
if ......, then ...." implications :

n? is an even number when the number n is even .

° Watch Video Solution

47. Write the component statements of each of the follwing

compound statements and state whether the statements are


https://dl.doubtnut.com/l/_57c7K7J8ker2
https://dl.doubtnut.com/l/_O2W4AaKsEfGD
https://dl.doubtnut.com/l/_A0vKTnIVt1PI

true or false:

If a triangle ABC is isosceles , then it is equilateral .

0 Watch Video Solution

48. Write the component statements of each of the follwing
compound statements and state whether the statements are
true or false :

If you are born in India, then you are citizen of India .

o Watch Video Solution

49. Write the component statements of each of the follwing
compound statements and state whether the statements are

true or false:


https://dl.doubtnut.com/l/_A0vKTnIVt1PI
https://dl.doubtnut.com/l/_UtsxhwQkn6fm
https://dl.doubtnut.com/l/_XGT60Q8VzeBa

x =3 and x = 4 are the roots of the equation 22> — 5z — 3 =0

O Watch Video Solution

50. Write the component statements of each of the follwing
compound statements and state whether the statements are
true or false :

If a number is a multiple of 9, then it is multiple of 3.

o Watch Video Solution

51. Write the component statements of each of the follwing
compound statements and state whether the statements are

true or false:


https://dl.doubtnut.com/l/_XGT60Q8VzeBa
https://dl.doubtnut.com/l/_vlbfvZMwGzb2
https://dl.doubtnut.com/l/_Jzuq1XctEVKI

The sand heats up quickly in the sun and does not cool down

fast at night .

0 Watch Video Solution

52. Write the component statements of each of the follwing
compound statements and state whether the statements are
true or false :

Square of an integer is positive or negative .

o Watch Video Solution

53. Write the negation of the following statements and check
whether the resulting statements are true or false :

Kolkata is the capital of India .



https://dl.doubtnut.com/l/_Jzuq1XctEVKI
https://dl.doubtnut.com/l/_znQAxHt748Z0
https://dl.doubtnut.com/l/_NWh0UXpYuInR

l @ Watch Video Solution I

54. Write the negation of the following statements and check
whether the resulting statements are true or false :

Thesumof4and 7is13.

o Watch Video Solution

55. Write the negation of the following statements and check
whether the resulting statements are true or false :

Every natural number is greater then zero .

° Watch Video Solution



https://dl.doubtnut.com/l/_NWh0UXpYuInR
https://dl.doubtnut.com/l/_DgiVgDBAlOIR
https://dl.doubtnut.com/l/_iXfMHOlpZTzH

56. Write the negation of the following statements and check
whether the resulting statements are true or false :

There does not exist a rectangle which has all its sides equal .

o Watch Video Solution

57. Write the negation of the following statements and check
whether the resulting statements are true or false :

All triangles are not isosceles .

° Watch Video Solution

58. Using the words " necessary and sufficient " rewrite the

following two biconditional statements :


https://dl.doubtnut.com/l/_qK41YJBl0149
https://dl.doubtnut.com/l/_MihqLfLxdM4J
https://dl.doubtnut.com/l/_z2VMoexGPCBI

The integer N is even if and only if N% is even .

o Watch Video Solution

59. Using the words " necessary and sufficient " rewrite the
following two biconditional statements :

The integer N is even if and only if N2 is even .

o Watch Video Solution

Exercise Long Answer Type Questions

1. Check the validity of the following compound statements :

264 is a multiple of 11 and 12..

° Watch Video Solution



https://dl.doubtnut.com/l/_z2VMoexGPCBI
https://dl.doubtnut.com/l/_8qeN8AuHpOU6
https://dl.doubtnut.com/l/_qV1U6BCDX4hj

2. Check the validity of the following compound statements :

195 is a multiple of 13 and 14 .

° Watch Video Solution

3. Examine the validity of the following compound statements

180 is a multiple of 4 or 5.

O Watch Video Solution

4. Examine the validity of the following compound statements


https://dl.doubtnut.com/l/_qV1U6BCDX4hj
https://dl.doubtnut.com/l/_Z9HfQXuDRe3V
https://dl.doubtnut.com/l/_DSJMAib6KZBB
https://dl.doubtnut.com/l/_PQPFdtaDS42i

2 — 3z'(i = /- 1) is a real number or it is a complex number .

° Watch Video Solution

5. Examine the validity of the following compound statements

98 is multiple of 3 or 4.

° Watch Video Solution

6. Check whether the follwing compound statements is true or
false.

If a and b are odd integers , then (a +b) is an even integer .

° Watch Video Solution



https://dl.doubtnut.com/l/_PQPFdtaDS42i
https://dl.doubtnut.com/l/_WFvTQchsyoyv
https://dl.doubtnut.com/l/_rtWXpSqg3jmf
https://dl.doubtnut.com/l/_IdaOFRtR4d2A

7. Check whether the following statement are true or not: p: If
x,y are integers such that zy is even then at least one of

x and y is an even integer.

o Watch Video Solution

8. prove that the compound statement " if x and y are odd
integers , then xy is and odd integer " is valid using

direct method

o Watch Video Solution

9. prove that the compound statement " if x and y are odd
integers , then xy is and odd integer " is valid using

contrapositive method


https://dl.doubtnut.com/l/_IdaOFRtR4d2A
https://dl.doubtnut.com/l/_PoyEKJUMAcg2
https://dl.doubtnut.com/l/_EpixLInkwR5o

o Watch Video Solution

10. prove that the compound statement " if x and y are odd
ntegers , then xy is and odd integer " is valid using

contradiction method

o Watch Video Solution

1. Using contrapositive method show that the following
compound statement is true.

If x is an integer and z2 is even , then x is also even .

o Watch Video Solution



https://dl.doubtnut.com/l/_EpixLInkwR5o
https://dl.doubtnut.com/l/_zqs0dopssme0
https://dl.doubtnut.com/l/_7078gzJEIiJg

12. Check the validity of the following compound statement
using

(i) direct method

contrapositive method and

(iii) contradiction method

If x is a real number such that 4z® + 3z = 0, thenx =0

o Watch Video Solution

13. Prove that the following biconditional compound
statement is true:

The integer x is even if and only if 22 is even .

o Watch Video Solution



https://dl.doubtnut.com/l/_KaeEUke1Gf36
https://dl.doubtnut.com/l/_DVezz37LMVXb
https://dl.doubtnut.com/l/_UehA6Qbuh5ON

14. Check the validity of the following biconditional statement

O View Text Solution

15. Check the validity of the following biconditional statement :

o View Text Solution

16. Prove that /5 is irrational (use the method of

contradiction )

O Watch Video Solution



https://dl.doubtnut.com/l/_UehA6Qbuh5ON
https://dl.doubtnut.com/l/_umv5JmonLF0I
https://dl.doubtnut.com/l/_N5BgnzmYNdzm

17. Use contradiction method to show the validity of the
following statement :

If x is real number with z > 5, then z? > 25.

o Watch Video Solution

18. Check the validity of the follwing statement using
contradiction method .
"The sum of a real number and a complex number is a complex

number" .

o Watch Video Solution



https://dl.doubtnut.com/l/_ZQyjhLywtFeV
https://dl.doubtnut.com/l/_WrXGbd6vb1yD

19. By giving a counter example show that the following

statement is false :

The equation 92> — 16 = 0 does not have a root lying

between (-1) and (-2) .

° Watch Video Solution

20. Prove that the statement "If all the the angles of a triangle

are equal , then the triangle is a right angled triangle " is false

O Watch Video Solution



https://dl.doubtnut.com/l/_FvZC84tM1R92
https://dl.doubtnut.com/l/_mCsHnUBPzYQK

21. By giving a counter example show that the following

compound statement is not true.

2

"If x and y are two real numbers , then 2> = y® implies x=y".

° Watch Video Solution

Sample Questions For Competitive Exams Multiple Correct

Answers Type

1. Consider the following statements -

p : Mumbai is the capital of Rajasthan or Maharashtra

q: 4/3 is a rational or an irrational number

r: 125 is a multiple of 7 or 8

s : A rectangle is a quadrilateral or a regular hexagon which

compound statements are true -


https://dl.doubtnut.com/l/_GR6X78OcDS4h
https://dl.doubtnut.com/l/_74u2yZAzRjIn

Ap

B.q

Answer: A::B::D

O Watch Video Solution

2. Consider the following statements -

p : 4 is an even prime number

g: 6 is a faactor of 12

r:H.C.Fof4and6is 12 which compoumd statemnets are

false -


https://dl.doubtnut.com/l/_74u2yZAzRjIn
https://dl.doubtnut.com/l/_Z41oMI8gyl65

A (pAq)
B.(pVq) N-r
C-(pAg) Vp

D.-pV (gAT)

Answer: A::B::C

° Watch Video Solution

3."If | become a teacher , then I will open a school" . Which of
the following statement are not a negation of a quantified
statements -

p : | will not becomes a teacher or | will open a school

g : Either I will not become a teacher or | will not open a scholl


https://dl.doubtnut.com/l/_Z41oMI8gyl65
https://dl.doubtnut.com/l/_LRNZDjzS5Owe

r: 1 will become a teacher and | will not open a school

s : Neither | will become a teacher nor | will open a scholl

A p

B.q

Answer: A::B::D

° Watch Video Solution

4. Which of the following statements are false ?

(i) 3+2=5 (ii) Eat two tablets (iii) what do you understand ? -

A. only (i)


https://dl.doubtnut.com/l/_LRNZDjzS5Owe
https://dl.doubtnut.com/l/_KKGQXIC12pU3

B. only (ii)

C. (ii)

D. (ii) and (iii)

Answer: C::D

O Watch Video Solution

5. Consider the following statements -

p : It is snowing now

q:lam feeling cold

compound statement whose component statements are p and
g is " It is snowing now and it is not that | am feeling cold " .
Which of the following does not represent compound

statements .


https://dl.doubtnut.com/l/_KKGQXIC12pU3
https://dl.doubtnut.com/l/_cWV2PMys8a00

Answer: B::C::D

° Watch Video Solution

Sample Questions For Competitive Exams Comprehension Type

1. Let 'an integer is prime when it has only two factors 1 and

the number itseft .
If an integer has on ohter factors excepting excepting 1 and

the number itselfithen it is prime ,.this statement will be -


https://dl.doubtnut.com/l/_cWV2PMys8a00
https://dl.doubtnut.com/l/_avASvwgA4S88

A. converse

B. contrapositive

C.if .. then ...type

D. none of these

Answer: C

O Watch Video Solution

2. Let 'an integer is prime when it has only two factors 1 and
the number itseft .
" If an integer has not other factors excepting 1 and the

number itself then it is prime,.this statement will be -

A. converse


https://dl.doubtnut.com/l/_avASvwgA4S88
https://dl.doubtnut.com/l/_UXBqsRcvNaLG

B. contrapositive

C.if .. then ...type

D. if and only if type

Answer: A

o Watch Video Solution

3. Consider two statements -

p : Ramesh is tall

g : Ramesh looks good

(i) "Being tall is sufficient to look good ' , the equivalent

statement of above statement is -

Ap=q


https://dl.doubtnut.com/l/_UXBqsRcvNaLG
https://dl.doubtnut.com/l/_Sx3B4dSXKPnq

B.gq=p

Cp<gq

D.pAgq

Answer: B

O Watch Video Solution

4. Consider two statements -

p : Ramesh is tall

g : Ramesh looks good

" Ramesh is tall looks good ', equivalent statement of this

statement is -

A.(pV-~)Vgq


https://dl.doubtnut.com/l/_Sx3B4dSXKPnq
https://dl.doubtnut.com/l/_3me0DadQVBsq

B.p/Agq
CpV(pA-q)

D.~(-p A q)

Answer: B

° Watch Video Solution

Sample Questions For Competitive Exams Assertion Reason Type

1. Statement -1 : " Ram is rich or happy " is a statement

statement - Il : These two statements are disjunction

A. Statement - | is true , Statement -ll is true and Statement

-Il is a correct explantion for statement -1 .


https://dl.doubtnut.com/l/_3me0DadQVBsq
https://dl.doubtnut.com/l/_yGmmmCV3j0uT

B. Statement - | is true , Statement -ll is true but Statement

-l is not a correct explantion of statement -I.

C.Statement - | is true , Statement -l is false .

D. Statement - | is false , Statement -l is true.

Answer: B

° Watch Video Solution

2. Consider the statements p,qand r

Statement - I : Negation of statement
pA(gVr) is -pV (-gA-T)

Statement - I : Negation of

pVgq is (-p) A (~q), and negationof pAgq is (-p) V (~q)


https://dl.doubtnut.com/l/_yGmmmCV3j0uT
https://dl.doubtnut.com/l/_5bXhPYmC97nu

A. Statement - | is true , Statement -ll is true and Statement

-l is a correct explantion for statement I .

B. Statement - | is true , Statement -ll is true but Statement

-Il is not a correct explantion of statement - .

C. Statement - | is true , Statement -ll is false .

D. Statement - | is false , Statement -l is true.

Answer:

° Watch Video Solution

Wbhs Archive 2014



https://dl.doubtnut.com/l/_5bXhPYmC97nu

1. Prove the following by contradiction :
"The sum of a rational and irrational number is an irrational

number ."

o Watch Video Solution

2.Show that the following statement is true by the method of
contrapositive :

"If x is an integer and z% is even , then x is also even."

° Watch Video Solution

Wbhs Archive 2015



https://dl.doubtnut.com/l/_RKOC4JZgMdBi
https://dl.doubtnut.com/l/_e9JIh98XIpLE

1. Let a statement p: AABC is a right angled triangle and
another statement q : Ina AABC, AB*> + BC? = AC*.

Check whether the following statements are true or false .

p implies q

O Watch Video Solution

2. Let a statement p: AABC is a right angled triangle and
another statement q: Ina AABC, AB*> + BC? = AC*.

Check whether the following statements are true or false .

q implies p

o Watch Video Solution



https://dl.doubtnut.com/l/_6ggGDe1UBshl
https://dl.doubtnut.com/l/_rosaXkyJ7yfv

3. Let a statement p: AABC is a right angled triangle and
another statement q : Ina AABC, AB*> + BC? = AC*.
Check whether the following statements are true or false .

p is true if and only id q is true

O Watch Video Solution

4. Let a statement p: AABC is a right angled triangle and
another statement q: Ina AABC, AB*> + BC? = AC*.
Check whether the following statements are true or false .

~p implies ~q(~p denotes the negation of the statement p)

o Watch Video Solution



https://dl.doubtnut.com/l/_pAOzYpD7zzOo
https://dl.doubtnut.com/l/_k6tjzVTRKy0C

5. prove by contradiction that /5 is not rational number .

0 Watch Video Solution

Wbhs Archive 2016

1. Check the validity of the following statement by using
method of contradiction :
The sum of real number and a complex number is a complex

number " .

O Watch Video Solution



https://dl.doubtnut.com/l/_7SZ96OEj6yoi
https://dl.doubtnut.com/l/_xtZY8RECKwQ6

2. Check the validity of the following compound propositions :
x) "72 is a multiple of bothe 4 and 9".

y ) "120 is a multiple of both 15and 9".

° Watch Video Solution

Jee Main Aieee Archive 2012

1. the negation of the statements

"If | become a teacher , then | will open a school ", is -

A. neither | will become a teacher nor | will open a school .

B. I will not become a teacher or | will open a school .

C. 1 will become a teacher and I will not open a school .


https://dl.doubtnut.com/l/_KeCe76XsNfwh
https://dl.doubtnut.com/l/_hs4xPvUCPmG4

D. either | will not become a teacher or | will not open a

school .

Answer: C

O Watch Video Solution

Jee Main Aieee Archive 2013

1. consider :

Statement-1: (p A ~g) A (~p A q) is a fallacy .

Statement -l : (p — q) <> (~g¢ — -p) is a tautology .

A. Statement -l is true , Statement -ll is true , Statement -lI

is a correct explantion for Statement - 1.


https://dl.doubtnut.com/l/_hs4xPvUCPmG4
https://dl.doubtnut.com/l/_SPo7HRYzE1x5

B. Statement - | is true , Statement - Il is true , Statement -l

is not a correct explanation for Statement - .

C. Statement - | is true , Statement -l is false .

D. Statement - | is false , Statement -l is true.

Answer: B

O Watch Video Solution

Jee Main Aieee Archive 2014

1. The statement ~(p <> ~q) is -

A. equivalent to p <> ¢q

B. equivalent to ~p <+ rq


https://dl.doubtnut.com/l/_SPo7HRYzE1x5
https://dl.doubtnut.com/l/_RkDkjPlxnV7R

C. a tautology

D. a fallacy

Answer: A

o Watch Video Solution

Jee Main Aieee Archive 2015

1. The negation of ~s V (-7 A s)

A.sV (rV-s)
B.s A\ r
C.sAN\-r

D.s A (T A ~s)


https://dl.doubtnut.com/l/_RkDkjPlxnV7R
https://dl.doubtnut.com/l/_gJs8YdDfgbdU

Answer: B

o Watch Video Solution

Jee Main Aieee Archive 2016

1. The boolean expression (pA~q) VgV (-pAgq) is

equivalent to

o Watch Video Solution



https://dl.doubtnut.com/l/_gJs8YdDfgbdU
https://dl.doubtnut.com/l/_p2u9YtNGoLNJ

